WY

{¢) Find the value of j: v, using the following - -

table: .
r . ; —
) e |
1 0.16]
2 0.176
3 0.190
4 (.204
5 0217
6 0.230
Unit—V

S, () Use Pleards method to appromate  when
r=02 given that y=1 when x=Cand

E =X=)-
(b) Use Ealer's method to find y(04) fiom the
differsntial equation % =1, 3(0) =1. Take for

each step =011,

(c) Apply Runge’s method to approximate y whin
x=16 given that y=04 at x=1 and

Lax- )2
¥-2091 1300
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B, C. A. (Part IT) EXAMINATION, 2015
' Peper First
NUMERICAL ANALYSIS
Time : Three Howrs ] [ Maximum Marks : 5(
Note : Attempt aﬁy two patts from each question. Al
questions carry equal marks. Non-programmeble
caloulators are ellowed.

Unit—I
I (@) Fid 2 real ool of th: equation
S(x)= ¥ -4x-9=0, using I;isei':tion method
in four siages.
() Apply Newton-Raphsan mathod to solve :
Ix-omx-120
(c) Solve the equation :

I -4l - 0p-26=0

ane root being ~l-4 Ei
12

A0 P.T.0.




[2] ©Y-2091
Unit—II
2, () Apply Gauss-Jordan method o selve :
la=ty+8z=2
Syrdy-l1:=1
Ixty+lz=16
(b) Solve the system of linear equations :
; 41] = ).'3 = !
-n+dn-x=0
—J:l +4I3 -,\'4 =0
'I] 1‘41‘ =(
using the Cholesky method.

(c) Use Power method to find the largest eigen veluz
of the matrix : ;

4|t 2
13
Unit—0

3. (3} Estimate the missing term in the following :

¥ J

— O L Ea e D

AZD

2 e 3] Y-2091

() Find a  polynomial  satisfied by
(4,12¢5),(-1,33),(0,5),(2,9) and (5, 1335), by
the uée of Newton's interpolation’ formula with
diviced differences.

(c) From the following ata compute & corresponding
to v =7 using Lagrange’s formula :

L J
1 4
3 12
4 19
Unit—IV
4, (a) Showthat:
]
Z F=1
= ,
where C] is Cote’s number.
(b) A curve is dravi to pass through the points given
by the following table :
X y
1 ')
15 24
2 7
25 23
3
33 2.6
4

|
Estimate the area bounded by the curve, the x-ais
andthelines x=11o r=4.

A PT.0,
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B.C. A, (Part II) EXAMINATION, 2015
Paper Second
DIFFERENTIATION AND INTEGRATION

Time : Three Hours | [ Mecxinn Marks . 50

Note : Atrempt any mwe parts from each question. Al
questions carry equal marks.

Unit—{
I (8 If:
ylfﬂf.‘_},-lhi =g
then prove that :
|:x1 -I:Iym {20+, +(n2 —mz]yn =0,
(t) Exoand cos in powers of (x~/4) by Taylor's
{heorem.

¢} Verify the function f(.x)=2x1—71—|ﬂ.for ficén
value theorem where g=2 b =5,

Unit=I1

2 () Trace thecurve x* =4o’(2a-),

A3 P.T.0.
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(b) Find the asymplotes of the following curve : '
}Lh}z—x:yﬂx’ -?:}r-w!
2l lyl=0

(¢) Find the points of inflaxion of the following

curve
y=3 494
Unit—1II
3 @ I
u=e®
then prove that:

EIEH—{HE;}M}!:Z]W

(t) Find the direcrionsl  cerivative  of
o) eyt +2d'a te poit F (1, 2.9
along the line P where co-ordinates of the point
Qare (5,0,4)

() If:
- p=rsnfoosd
y=rsindsig
1=ref
then show that

M =rHsin
r)d)

d

A

(3]
Unit—1V

" a) Evaluate:

jxj cosxzdx

{b) Evaluete:

(¢) Prove that:
Lta! ho L]

| S4dusl 4
Unit=Y

5. (2) Eveluate:

Fl[:”rlngzm&dy
(o) Change the order of integratior of
[ uftes
(c) Find the length of thearc of the curve

=l &
p=lop—
ge’+1

from x=] to x=2.

Y-2092
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B. C. A. (Part IT) EXAMINATION, 2015
Paper Third
DATA STRUCTURE
Time ; Three Hours | [ Maccimm Marks : 50
Nnu:ﬁw:zymmﬁnﬁuclqum'm.ﬁil
- questions carry equal marks, _

L (9) What do you memn by complexity of m
algorithm ? Explain various notations used 10"
denote complexity.

{b), Write different aperations of data structure and
the datastructure in which they can be performed.

{e) Define algorithm. Write the features of an
efficieat algorithm.

1 fa) What is an array ? Write an algorithm 10 fnsert an
element ina linear amay.

{h}wmalgmiﬂmﬁxbiwywch.ﬁiveiu
advantages and limitations,

(¢) What is pointer array ? What is the purpose of
using pointer array ?

3.‘9 What is Linked List ? Explain various types of
linked list.

A0 P.T.0
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{b) Write algorithm to insert and delete an element
from a queue. .

{6) Translate, by inspection and hand, each infix
expression into its equivalent postfix expression :
@i (A+B TD)I(E-F)+G
i) A* (B+D)E-F*(G+HK)

4 () What is Binary Tree ? With reference to binary
tree explain the following terms ¢
(i) Level
(ii) Depth of s node
(i) Degree of a node
(iv) Edge
(v) Terminal node

(b) Suppose the following list of letters s inserted in
rder into an empty binary search tree :

© LRD,GTEMHPAEQ
Find the fine] tree T and inorder traversal of T.

{¢) Write aad explain the algorithm for preonder
traversal of a binary tree.

50 (v)Wete algorithm 10 sort & list of elements using
selection sort,

), What is merging ? Explain merge sort with the
help of an example.

() AmngeD,ATASTRUCTURER

* aiphabetial order through insetion sort. Give
stes. .

Y-2053 1300
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B. . A, (Part ) EXAMINATION, 2015
Paper Fourth
DBMS (ORACLE, SOL)
Time : Three Hours | [ Meximen Marks : 100
[ Mininum Pass Marks : 40
Note: Attempt any fwo parts from each question. AL
questions carry equal marks.
| (&) Whatare the different datz administration roles?
(b) What are fhe access methods for data ?
(c) Explain data dictionary.
2 (&) Draw an E-R diagram for inventory information

systen to meinin informatin for items, onder
a1d customers.

(b) Explain e concepts ofkeys
(c) Explainthe following :
(i) aggregation
(i) generalization
3 (a) Exphin the following relational algebra
operafions -
(i) Select

P.T.0,
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(i}) Project
(i) Cross product
(iv) Set differerce :
(b) Whatare database integrity consiraints !
(c) Consider the followirg relation :
Employee (eid, ename, eaddress)
Works (eid, salary, branch_id)
Branch (beanch_id, branch,_name)
Given a relaional algebra expression for each of
the following queries :
(i) Select all employee name of branch name is
AV
{if) Find employeé id whose salary is greater
than 10,000,
(if) Find the total salery of branch id =" 100°,
(iv) Find the employes pame and ifs branch
name.
4, (2) Explain functional dependercies.
(b} Whatare the diffsrent forms of normalization ?
(z) What do you mean by mti-valued dependercies ?
Explain with exaple.
5. (a) Whatere the commands used to menipute data?
] Explnin!hefollcwhg:
() Group by clause

(li) Nested queries

A2

(3]
(¢) Consider the following schema
Student (rol lno, name, age, college_name)

College (o, callege id, ~college_name,
[ocation)

Seats (college id, no of seats filled, seats lef,
totz]_seats)

Write SQL cermand for the following query :
(i) Find college name where no seats are filled
(i) Find student name of college name “XYZ”.

(ifi) Find the total no. of left seats of gach
college.

(iv) Update the rame of student with “Sita”
where collage name is “XYZ",

Y-2094 130
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B. C. A. (Part II) EXAMINATION, 2015
Paper Fifth
PROGRAMMING IN C 4+ AND VISUAL C ++

Time : Three Hours ] [ Maximum Marks : 100

[ Minimum Pass Marks : 40

Note : (i) Attempt any fwo parts from each question. All
questions carry equal marks.

(ii) Only simple calcuiator is allowed not scientific

calculator.
1. (a) What are the features off object-oriented
programming 7

(b) What is Class ? Describe it with example.

(c) Write down the difference between procedure
oriented programming and object oriented
programming,.

2. (a) What is inheritance ? How many types of
inheritance are there ? Describe it.

(b) What is constructor and destructor 7 How many
types to assign values into constryctor 7

(c) What is operator overloading ?' Explain it with
example.

A-5D : P.T.O.



(b)
(c)

4, (a)

(®)

(<)

(b)
(©)

¥-2095

55

[2]1
What is virtual function ? Explain it.
Write down the features of inline function.
Write a ﬂ,mg;ram in C ++ for display the student
details with class.
What are the methodology for object oriented
design ?
Describe the following terms :
(i) Relationship type
(ii) Attribute types
Describe the architecture of object-oriented
databases.

How mary types creating source code file in
VC-+H7?

What is device context 7
Describe the following terms :
(i) View object

(i) Document object

(iii) Application object

1,300
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B, C. A, (Part IT) EXAMINATION, 2015
Paper Sixth
COMPUTER NETWORK AND INTERNET
TECHNOLOGY
Time - Three Hols | [ Mimman Marks : 100

Note :Atempt any mwo parts fom each question. Al
questions carry equal marks.

Unit—1
1. (&) What do you mean by computer topology ?
Deseribe all types of topologes,
(t) Differentizts LAN, MAN and WAN in brief,
(¢) Exolain point to point and multipoint lne
configuration in brief.
Unit—1
2. () Write the function of each layer of TCPIP
maodel.

(t) Differenticts OSI model and TCP/IP reference
model.

A53 PTG




(b)
(c)

A£9

(2] . Y-2096. RS [3]

Write short notes on the following : O “¥ Unit—V
(i) Arpenet 5. () What is Java applet 7 Write Java source cade to
(i) NSFNET design an applet to show some text in a applet
Unit—IIt windov. :
Explain parallel transmission and  saries (b) Describe the structure of Java script and explain
trznsmission in brief all commands of Tava script,
- .
Explain DTE-DCE interZzce with example. + (¢} Write short notes on the following :
) What is Modem ? Explain their types. Why ar . () Webserver
. 9
modem standards necessary ? (i) Stylesheet
Unit—IV
) Differentiate intemet enc intranet. Explain client J

server model of internet with diagram,
Explain CGI scripting with suitable example.
Write codes for the following :

User Name I | '
Password

Login D Admin
D General

" Y-2096 1,300
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B. C. A. (Part II) EXAMINATION, 2015
Paper Seventh
LINUX

Time : Three Hours | [ Maximum Marks : 50
Note : Attempt all the five questions. Attempt any fwo parts

from eachiquestion. All questions carry equal marks.
1. (@) Throw light on the architecture of LINUX.

(b) Discuss about the need and origin of LINUX.

(c) Explain the following commands with suitable
example :

(i) cd

(ii) Cat

(iii} df

(iv) whoami

(v) be

2. (a) Explain the various features of Emac-editor ?

(b) How can you create shell command ? Explain.
(c) Discuss any five Vi commands.

3. (a) Write a shell program for multiplying two
numbers.

A-SS P.T. 0.
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(b) Write any shell program using for loop.
() Explain the stepwise procedure :
(i Tochange password
{iy Terminate process
4, (a) Explain different models of X-windows. .
{b) Write the steps to manage file with the GNOME.

{c) Explain the features of window manager.

5. (a) What is the role of inittab file 7

‘(b) Point out highlight of security file access
permission.

(c) Explain the steps to generate user and group in
Linux., '

=257 1,300
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B. C. A. (Part IT) EXAMINATION, 2015
Paper Eighth
PRINCIPLES OF MANAGEMENT

Time : Three Hours ] [ Maximum Marks : 50

Note : Attempt all questions. All questions carry equal
marks.

Unit—I
1. “Management contains both elements, those of science
and those of an art.” Comment.
Or
Describe the main functions of management. Explain
their comparative importance.
Unit—I1
2. What do you understand by planning ? Discuss its
nature, objectives and importance in: business
management. -
Or
Enumerate the principal steps in the process of
planning. Describe them briefly.
Unit—I1I

3. What is Organization Structure ? Discuss the factors
determining organization structure.

A-53 P.T.O.
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What do you understand by Deparimentation ? Discuss
the various bases of departmentation,

Unit—IV

. Critically examine the different theories of Leadership.

Or

What is Communication ? What are the various barriers
to communication ? How can these barriers be removed 7
Unit—V
What do you mean by control ? Describe the essential
steps of effective control system.
Or

Explain the concept of bounded rationality in decision-
making,

Y-2098 1,300
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B. C. A, (Part IT) EXAMINATION,; 2015
Paper Ninth -
(Foundation Course)
'ENGLISH LANGUAGE
Time : Three Hours | [ Macimuan Marks : 50
| Minimum Pass Marks : 20
Note : Atternpt all questions,
Unit—I
1. Answer any five of the following questions : 1)
(a) Whois the truz daughter of Old Time ?
(b) Which epoch making discoveries were mads in
the field of Mathematics in Ancient Incia ?
© Whet rle do the saelles play i
Communication ?
(d) Whet is Information Technology 7
(e) Why dozs the agony of plant leave us indifferent ?

(fi When wes Ramanujan's curiosity about the
“highest truth” in mathematics aroused ?

(#) What does Pefer Laurie say bout job prospests in
the computer sector ?

A3 P.T.C.
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() How can a plastic surgeon be compared fo 2 -

sculptor ?
Unit=II

2. (a) Red the passage carefully and answer the

questions thaf follow : 5

Discipline must be enforced right from the chilc’s
birth, Discipline a: home makes for futurs
preatness of a child. It forms his character md
makes him a fit citizen. The child who is allowed
to have his own way, becomes wayward. The
child who is allowed el sorts of excesses like
running gbout in the sun, expositing himself to
cold, eating unwhelesome things will fal il
frequently, A child whose habits have been
disciplined and who has bez taught o rise early
atrend 1o his lessons and avoid things that are
injurious will grow fo be & useful member of the
<ociety. The spoll child who has been allowed to
run his oourse, will show vice contracted in
younger days. His parents would wish that he had
ot been born at all

Ouestions :

(i) When should discipline be enforced ?

{if) What does discipline do fora child ”

(il I a child is ellowed 10 do what be likes
whet will happea to him ?

(iv) What wishes does  child pick up whan he
disellowsd to do what he likes ?

(v) Givea suitable title tothe passage.

[31 ¥-2099

(b) Give synonyms of te following (any fie) .~ §

(i) outstanding
(i) concept
(i) copy
(iv) glorious
{v) substance
{vi) holy
Give antonyms of any five of the following
words: 5
{i) modem
(i) senicr
(i) luge
(iv) firs. 1
(v) quiet
(vi) sweet
Unit=1L

3, Write & teport in 150-200 words on any one of the

following: 5
i) Sitpur festval

(i) Rim Kumbh

(if) Floods in Chhatisgarh

(i¥) Qath-taking ceremony in your college

i

A3

Unit=1V

. Expand any cne of the following in adour 150 words :

3

Rorié was not buift in 2 day.

P.T.0.
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(ii) A bird in hand is better than two in tha bush,
{iif) Never & borrawer nor a lender be.
{iv) Science is a good servant bui a bad master.,

151 ¥-2099

(14) 1gave her my address. I wanted her to contact me.

(Combine making necessary changes)

Unit—V . (15) 1 was tited, [ went to bed early.

. Doas directed (any twensy) : 15 {Combine using ‘as’ or ‘because”)
{ 1) Sheis........ litile Hitler. ~ (Insert an article) (16) T'll try 1o bz on time but do not worry ..., |
(2) Caleutts Is ........... largest city in India. am late. ' (Insert if cr ‘when’)
(3) Heusually ... (spend) his vacnt(i[::::r:l o ekl everybm'iy T only I.I:ree poopl

Ut cntet e ol v camz. (Complete using a canjunction/connector)
@) eomeme yoU Mr. Kumar ? . (18) They listened the music.  (Carrect the sentence)
: (Use proper form of be’) (19) You should abstain strong drinks.
(5) Ifyou tock less exercisz, you.... (feel) betie, (Correct the sentence)
. (Put the given verb in the corract form) (20) You should apply the secretary.
(6) We........ simatnoble goals, (Correct the sentence)
(Use a model aunliary expressing desirability) Change the voice.
(7) Who did this ? (Change the vaice) (21) Who killed the Tiger ?
(8) Please shut the door. (Change the voice) (22) The cat drank all the milk.
{9) wave you heard about ujjain (23) Put this picture on the wall.
i (Purctuate the Sentence] (24) The auditors are chacking the accourts.
(10) what a marvellousidea  (Punctuate the sentence) (25) Mother has cooked the food
(11) You dothe work ............ . '
(Use the correct self form)
(12) Kalidas lived ..., the reign of king
Vikramaditya, (Insert a suitable preposition)
(13) You teach. Do you enjoy it ?
(Combine into a simple sentence using & gerund form)
Y-2099 1300
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